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1. Corrections required for ENDC TC 7.1.2.3.10 using wk23 (Anritsu)

Change 1
	Function name
	f_TC_7_1_2_3_10_NR_Testbody

	Reason for change
	1) The function fl_NR_GenerateRLC_AM_SDUs is already subtracting 3 bytes in D19wk23 TTCN.
2) As per 38.523-1, Step 19 and step 23 shall be received with SN=3

	Summary of change
	1) Generate RLC AM SDU with RLC SDU size instead of (RLC SDU size – 3)

2) Expect RLC SDU#4 segment 1 with SN = 3 in step 19 and step 23

	TTCN module
	RLC_TC_Common_NR.ttcn

	MCC160 Comment
	


Before change

  function f_TC_7_1_2_3_10_NR_TestBody(NR_RLC_SS_State_Type p_RLC_Rec,

                                             DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC

  { // AM RLC / Re-transmission of RLC PDU with and without re-segmentation

    var integer v_RLC_Len1stSegPart1 := 23;

    var integer v_RLC_Len1stSegPart2 := 21;

    var integer v_RLC_Len1stSeg := v_RLC_Len1stSegPart1 + v_RLC_Len1stSegPart2; // = 49

    var integer v_RLC_Len2ndSeg := 46;

    var integer v_RLC_SDUsize := v_RLC_Len1stSeg + v_RLC_Len2ndSeg; // = 96

    var SubFrameTiming_Type v_TimingDL;

    var SubFrameTiming_Type v_TimingUL;

    var template (value) NR_RLC_Status_NackListSN18Bit_Type v_NR_NackSN18Bit_List;

    var NR_ResourceAllocation_Type v_NR_ResourceAllocation;

    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);

    var integer i;

    f_Delay(1.0); //

    // generate 4 RLC SDUs = PDCP PDUs for transmission

    fl_NR_GenerateRLC_AM_SDUs(p_RLC_Rec, (v_RLC_SDUsize-3), 4);

    // @siclog "Step 1" siclog@

    // The SS transmits one AMD PDU containing SDU#1 (96 bytes) in its data field.

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 2" siclog@

    // The UE transmits one AMD PDU containing SDU#1 in its data field.

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU1, tsc_NR_P_Poll);

    p_RLC_Rec.AM_TX_Next := 1;

    p_RLC_Rec.AM_RX_Next := 1;


// @siclog "Step 3" siclog@

    // The SS transmits one AMD PDU containing SDU#2 (96 bytes) in its data field.

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 4" siclog@

    // The UE transmits one AMD PDU containing SDU#2 in its data field.

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU2, tsc_NR_P_Poll);

    p_RLC_Rec.AM_TX_Next := 2;

    p_RLC_Rec.AM_RX_Next := 2; 

    // @siclog "Step 5" siclog@

    // The SS transmits a RLC STATUS PDU. ACK_SN=2, NACK_SN=0.

    v_NR_NackSN18Bit_List  := {crs_NR_RLC_NACK_SN18_Simple (0)};

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

    // @siclog "Step 6" siclog@

    // Check: Does the UE transmit the AMD PDU not yet acknowledged?

    p_RLC_Rec.AM_RX_Next := 0;

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU1, tsc_NR_P_Poll);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");

    // @siclog "Step 7" siclog@

    // The SS transmits a RLC STATUS PDU. ACK_SN=2.

    p_RLC_Rec.AM_RX_Next := 2;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 8" siclog@

    // The SS transmits one AMD PDU containing SDU#3 (96 bytes) in its data field.

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 9" siclog@

    // The UE transmits an AMD PDU containing SDU#3 in its data field.

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU3, tsc_NR_P_Poll);

    p_RLC_Rec.AM_TX_Next := 3;

    p_RLC_Rec.AM_RX_Next := 3;

    // EXCEPTION: Steps 10 to 11 shall be repeated until RETX_COUNT=maxRetxThreshold-1.

    for (i := 0; i < (p_RLC_Rec.maxRetxThreshold); i:= i + 1) {

      // @siclog "Step 10" siclog@

      // The SS transmits a RLC STATUS PDU. ACK_SN=3 and NACK_SN=2.


p_RLC_Rec.AM_RX_Next := 3;

      v_NR_NackSN18Bit_List  := {crs_NR_RLC_NACK_SN18_Simple (2)};

      f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

      // @siclog "Step 11" siclog@

      // Check: Does the UE retransmit the AMD PDU not yet acknowledged?

      p_RLC_Rec.AM_RX_Next := 2;

      f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU3, tsc_NR_P_Poll);

      f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    }

    // @siclog "Step 12" siclog@

    // The SS transmits a RLC STATUS PDU. ACK_SN=3.

    p_RLC_Rec.AM_RX_Next := 3;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 13" siclog@

    // The SS stops the UL grant transmission.

    f_NR_ULGrantConfiguration_Stop(nr_Cell1, -, cs_NR_UplinkTimeAlignment_Keep);

    // @siclog "Step 14" siclog@

    // The SS transmits one AMD PDU containing SDU#4 (96 bytes) in its data field.

    v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1);

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id, tsc_NR_P_NoPoll, cs_TimingInfo_NR(v_TimingDL));

    // @siclog "Step 15" siclog@

    // The SS waits for 60 ms and allocates one UL grant of size 808 bits.

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 60);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(768, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    // @siclog "Step 16" siclog@

    // The UE transmits an AMD PDU with the same data contents as received in the corresponding part of SDU#4?

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, tsc_NR_P_Poll);

    // @siclog "Step 17" siclog@

    // The SS transmits a STATUS PDU. This PDU nacks the AMD PDU with SN=3. ACK_SN=4 and NACK_SN=3.

    v_NR_NackSN18Bit_List  := {crs_NR_RLC_NACK_SN18_Simple (3)};

    p_RLC_Rec.AM_RX_Next := 4;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

    // @siclog "Step 18" siclog@

    // The SS waits for 20 ms and then allocates 2 UL grants of size 432 bits such that there is 20 ms gap between UL grants.

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 100);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(408, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 120);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(432, v_NR_UplinkBWP);
    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    // @siclog "Step 19" siclog@

    // Check: Does the UE transmit an SDU segment with SI=01 and SOEnd=48 and the same data contents at the received positions as in the original SDU#4?

    p_RLC_Rec.AM_RX_Next := 4;
    p_RLC_Rec.TimeStampLastReceivedPDU := f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, 0, v_RLC_Len1stSeg, tsc_NR_SI_StartOfSDU);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 19");

    // @siclog "Step 20" siclog@

    // Check: Does the UE transmit an SDU segment with SI=10 and SOStart=49 and the same data contents at the received positions as in the original SDU#4?

    p_RLC_Rec.TimeStampLastReceivedPDU := f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, v_RLC_Len1stSeg, v_RLC_Len2ndSeg, tsc_NR_SI_EndOfSDU, true);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 20");

    // @siclog "Step 21" siclog@

    // After 100 ms SS transmits a STATUS PDU. This PDU nacks the SDU with SN=3. NACK_SN=3, SOStart=0, SOEnd=48 and ACK_SN=4

    v_TimingDL := f_SubFrameTiming_AddMilliSeconds(p_RLC_Rec.TimeStampLastReceivedPDU, 100);

    v_NR_NackSN18Bit_List := {crs_NR_RLC_NACK_SN18_SOs_712310 (3, 0, (v_RLC_Len1stSeg-1))};

    p_RLC_Rec.AM_RX_Next := 4;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

    // @siclog "Step 22" siclog@

    // The SS waits for 20 ms and then allocates 2 UL grants (UL grant allocation type 2) of size 256 bits such that there is 20 ms gap between UL grants.

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 100);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(240, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 120);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(224, v_NR_UplinkBWP); 

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    // @siclog "Step 23" siclog@

    // Check: Does the UE transmit an AMD PDU segment with SI=01 and SOEnd=26 and the same data contents at the received positions as in the original SDU#4?

    p_RLC_Rec.AM_RX_Next := 4;
    f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, 0, v_RLC_Len1stSegPart1, tsc_NR_SI_StartOfSDU);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 23");

    // @siclog "Step 24" siclog@

    // Check: Does the UE transmit an AMD PDU segment with SI=10, SOStart=27 and the same data contents at the received positions as in the original SDU#4?

    f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, v_RLC_Len1stSegPart1, v_RLC_Len1stSegPart2, tsc_NR_SI_SegmentOfSDU, true);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 24");

    // @siclog "Step 25" siclog@

    // The SS transmits a STATUS PDU. This PDU acks the AMD PDUs with SN=3. ACK_SN=4.

    p_RLC_Rec.AM_RX_Next := 4;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id);

  }
After change
  function f_TC_7_1_2_3_10_NR_TestBody(NR_RLC_SS_State_Type p_RLC_Rec,

                                             DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC

  { // AM RLC / Re-transmission of RLC PDU with and without re-segmentation

    var integer v_RLC_Len1stSegPart1 := 23;

    var integer v_RLC_Len1stSegPart2 := 21;

    var integer v_RLC_Len1stSeg := v_RLC_Len1stSegPart1 + v_RLC_Len1stSegPart2; // = 49

    var integer v_RLC_Len2ndSeg := 46;

    var integer v_RLC_SDUsize := v_RLC_Len1stSeg + v_RLC_Len2ndSeg; // = 96

    var SubFrameTiming_Type v_TimingDL;

    var SubFrameTiming_Type v_TimingUL;

    var template (value) NR_RLC_Status_NackListSN18Bit_Type v_NR_NackSN18Bit_List;

    var NR_ResourceAllocation_Type v_NR_ResourceAllocation;

    var NR_UplinkBWP_Type v_NR_UplinkBWP := f_NR_CellInfo_GetUplinkBWP(nr_Cell1, tsc_NR_BWP_Id);

    var integer i;

    f_Delay(1.0);
    // generate 4 RLC SDUs = PDCP PDUs for transmission

    fl_NR_GenerateRLC_AM_SDUs(p_RLC_Rec, v_RLC_SDUsize, 4);

    // @siclog "Step 1" siclog@

    // The SS transmits one AMD PDU containing SDU#1 (96 bytes) in its data field.

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 2" siclog@

    // The UE transmits one AMD PDU containing SDU#1 in its data field.

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU1, tsc_NR_P_Poll);

    p_RLC_Rec.AM_TX_Next := 1;

    p_RLC_Rec.AM_RX_Next := 1;


// @siclog "Step 3" siclog@

    // The SS transmits one AMD PDU containing SDU#2 (96 bytes) in its data field.

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 4" siclog@

    // The UE transmits one AMD PDU containing SDU#2 in its data field.

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU2, tsc_NR_P_Poll);

    p_RLC_Rec.AM_TX_Next := 2;

    p_RLC_Rec.AM_RX_Next := 2;

    // @siclog "Step 5" siclog@

    // The SS transmits a RLC STATUS PDU. ACK_SN=2, NACK_SN=0.

    v_NR_NackSN18Bit_List  := {crs_NR_RLC_NACK_SN18_Simple (0)};

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

    // @siclog "Step 6" siclog@

    // Check: Does the UE transmit the AMD PDU not yet acknowledged?

    p_RLC_Rec.AM_RX_Next := 0;

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU1, tsc_NR_P_Poll);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");

    // @siclog "Step 7" siclog@

    // The SS transmits a RLC STATUS PDU. ACK_SN=2.

    p_RLC_Rec.AM_RX_Next := 2;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 8" siclog@

    // The SS transmits one AMD PDU containing SDU#3 (96 bytes) in its data field.

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 9" siclog@

    // The UE transmits an AMD PDU containing SDU#3 in its data field.

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU3, tsc_NR_P_Poll);

    p_RLC_Rec.AM_TX_Next := 3;

    p_RLC_Rec.AM_RX_Next := 3;

    // EXCEPTION: Steps 10 to 11 shall be repeated until RETX_COUNT=maxRetxThreshold-1.

    for (i := 0; i < (p_RLC_Rec.maxRetxThreshold); i:= i + 1) {

      // @siclog "Step 10" siclog@

      // The SS transmits a RLC STATUS PDU. ACK_SN=3 and NACK_SN=2.


p_RLC_Rec.AM_RX_Next := 3;

      v_NR_NackSN18Bit_List  := {crs_NR_RLC_NACK_SN18_Simple (2)};

      f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

      // @siclog "Step 11" siclog@

      // Check: Does the UE retransmit the AMD PDU not yet acknowledged?

      p_RLC_Rec.AM_RX_Next := 2;

      f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU3, tsc_NR_P_Poll);

      f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    }

    // @siclog "Step 12" siclog@

    // The SS transmits a RLC STATUS PDU. ACK_SN=3.

    p_RLC_Rec.AM_RX_Next := 3;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id);

    // @siclog "Step 13" siclog@

    // The SS stops the UL grant transmission.

    f_NR_ULGrantConfiguration_Stop(nr_Cell1, -, cs_NR_UplinkTimeAlignment_Keep);

    // @siclog "Step 14" siclog@

    // The SS transmits one AMD PDU containing SDU#4 (96 bytes) in its data field.

    v_TimingDL := f_NR_GetNextSendOccasion_DL(nr_Cell1);

    f_NR_TxAMD_SDU(p_RLC_Rec, p_NR_DRB_Id, tsc_NR_P_NoPoll, cs_TimingInfo_NR(v_TimingDL));

    // @siclog "Step 15" siclog@

    // The SS waits for 60 ms and allocates one UL grant of size 808 bits.

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, v_TimingDL, 60);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(768, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    // @siclog "Step 16" siclog@

    // The UE transmits an AMD PDU with the same data contents as received in the corresponding part of SDU#4?

    f_NR_RxAMD_SDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, tsc_NR_P_Poll);

    // @siclog "Step 17" siclog@

    // The SS transmits a STATUS PDU. This PDU nacks the AMD PDU with SN=3. ACK_SN=4 and NACK_SN=3.

    v_NR_NackSN18Bit_List  := {crs_NR_RLC_NACK_SN18_Simple (3)};

    p_RLC_Rec.AM_RX_Next := 4;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

    // @siclog "Step 18" siclog@

    // The SS waits for 20 ms and then allocates 2 UL grants of size 432 bits such that there is 20 ms gap between UL grants.

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 100);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(408, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 120);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(432, v_NR_UplinkBWP); 

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);
    // @siclog "Step 19" siclog@

    // Check: Does the UE transmit an SDU segment with SI=01 and SOEnd=48 and the same data contents at the received positions as in the original SDU#4?

    p_RLC_Rec.AM_RX_Next := 3;
    p_RLC_Rec.TimeStampLastReceivedPDU := f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, 0, v_RLC_Len1stSeg, tsc_NR_SI_StartOfSDU);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 19");

    // @siclog "Step 20" siclog@

    // Check: Does the UE transmit an SDU segment with SI=10 and SOStart=49 and the same data contents at the received positions as in the original SDU#4?

    p_RLC_Rec.TimeStampLastReceivedPDU := f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, v_RLC_Len1stSeg, v_RLC_Len2ndSeg, tsc_NR_SI_EndOfSDU, true);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 20");

    // @siclog "Step 21" siclog@

    // After 100 ms SS transmits a STATUS PDU. This PDU nacks the SDU with SN=3. NACK_SN=3, SOStart=0, SOEnd=48 and ACK_SN=4

    v_TimingDL := f_SubFrameTiming_AddMilliSeconds(p_RLC_Rec.TimeStampLastReceivedPDU, 100);

    v_NR_NackSN18Bit_List := {crs_NR_RLC_NACK_SN18_SOs_712310 (3, 0, (v_RLC_Len1stSeg-1))};

    p_RLC_Rec.AM_RX_Next := 4;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id, v_NR_NackSN18Bit_List);

    // @siclog "Step 22" siclog@

    // The SS waits for 20 ms and then allocates 2 UL grants (UL grant allocation type 2) of size 256 bits such that there is 20 ms gap between UL grants.

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 100);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(240, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    v_TimingUL := f_NR_GetNextSendOccasion_ULafterDL(nr_Cell1, p_RLC_Rec.TimeStampLastReceivedPDU, 120);

    v_NR_ResourceAllocation := f_NR_ResourceAllocation_UplinkGrant(224, v_NR_UplinkBWP);

    f_NR_OneULGrantTransmission(nr_Cell1, cs_TimingInfo_NR(v_TimingUL), v_NR_ResourceAllocation);

    // @siclog "Step 23" siclog@

    // Check: Does the UE transmit an AMD PDU segment with SI=01 and SOEnd=26 and the same data contents at the received positions as in the original SDU#4?

    p_RLC_Rec.AM_RX_Next := 3;
    f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, 0, v_RLC_Len1stSegPart1, tsc_NR_SI_StartOfSDU);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 23");

    // @siclog "Step 24" siclog@

    // Check: Does the UE transmit an AMD PDU segment with SI=10, SOStart=27 and the same data contents at the received positions as in the original SDU#4?

    f_NR_RxAMD_PDUpartofSDU (p_RLC_Rec, p_NR_DRB_Id, tsc_RLC_SDU4, ?, v_RLC_Len1stSegPart1, v_RLC_Len1stSegPart2, tsc_NR_SI_SegmentOfSDU, true);

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 24");

    // @siclog "Step 25" siclog@

    // The SS transmits a STATUS PDU. This PDU acks the AMD PDUs with SN=3. ACK_SN=4.

    p_RLC_Rec.AM_RX_Next := 4;

    f_NR_TxSTATUS_PDU(p_RLC_Rec, p_NR_DRB_Id);

  }
